1. The tatio of the sides of a triangle is 2:6:7.

If the perimeter of the triangle is 195 meters,
what is the length of the longest side?

v Y
2 [ 2x+Lx#1x=19S
ISx =198
)\/ —IS

PUs in °H~\

‘2. The ratio of th
What is the measure of the smallest angle?

pusyre.
}+) x-f"lm (
20X=__|&‘D X =9 L. #=

= angles in a triangle is 3:10:7.

. -
6. If AC’Q_E"“ AF(_}'_L:, find the value of x. 7. If AHE"‘«'A'ALYR, e m— T
‘ 27 40 8 53 L‘ R
- x ____ - 1x-1
- E F L) x+ X
a1 _ 2% CE D=
X 40 EF EG \
ZSX: '080 2?*1,‘3:-9— ng-,‘n
X>43, 7 x=43 2 2%y
-lFx —zrv
8. IFAPTS ~ APOR, find the value of i4ss= 3Sx
. 3= A e value of x.
L % 30 E@
s B B 2 . 2 Y i
! LU Y L TRy e
. - ) T mox-10= Lbx +12
, 190X+ PO= ubx*_:n 22 1S +0 o
= ’N'l)! Ixt “Jox> bbx +42
1SOX +4L 2= Zlbg
%=1 - 19ox - 130y el Hxzy
Foh P~ §77 10 |X=
. If AFGH ~ ARJH, find F, <
% e = X+ PXQX—LS 7x-1 2 -
3L S2
128 % - fu0 = SZxHUy
+ WO + 350

“Sx

125X = S2x 12V

o AV

" 2 - S ¥ :
4 lsl———— Iov=121L




%xX="

70X + 19, =98
- 0x

RTOX

10, 1 APML v ATR, find OR. 25. Solve for x. 24, Solve for =, |
PIL ~ ATRQ, find 0 D S T EL s
X ; 0 - A %+
By 7 b ] ) 3\&(:11 -‘t |
N Nk <[] AN - ;
4 " -
b gs,aa N | A2l %
J Lx+2 e
70%470 zqpx- oy LEXALMxbiz
+\2e +2e SR rhx
FX = Hxeity r
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